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‘-Instructlons to Candzdates :

Attempt any five questwns selecting one questzon from each

unit. All questions carry equal marks. Schematic diagrams must
‘be shown wherever necessary. Any data you feel missing suitably
be assumed and stated clearly. Umts of quantities used/ calculated
‘must be stated clearly :

Use of following supporting material is permntted dunng exammatlon |
(Mentloned in form No. 205) | . |
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UNIT - I

1 () Find the relative maximum error in the function U=—

._WhereAx Ay =Az = OOOlandx y=z=1.
(1) Usmg the Secant method, find the root of the equatlon |

. S— correct to four demmal places. | |

| 8+8
OR |

1 @@ Find the real root of the equation 2 | 44in = 0 correct to four

~ places of decimals by using Newton-Raphson method.

() Write the algorithm for finding the roots of a non-linear .

- equation using successive substitution method.
_ | - f | - 8+8

UNIT —'II__

2 @ Why p1vot1ng requlred in Gauss- Ehm1nat10n method ? |
| - Dafferentiate between partlal and full p1votmg
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(i) Solve the sy_'sfem of equations

2w -xy+20y=3 I E

" x1+3x2+3x3—-—-1 .

xl+2x2+5x3-1 | |

- Iterate two times using the Gauss Se1de1 method starting

with the initial approximations as X, =03, x,=-08 and
x3 “03.

e 4+12

(@ Write the alognthm for solvmg the ]mear S1multaneous
" equations using LU method. ,
(11) Solve the system of equatlons

x; + 2x, +3x3 =14,
23:1 +5x, +2x3 =18- :
by using Factonzatlon method
848
_UNIT - III

@ Fit a second (glegree parabola to the following data

*T10]15]20]25]30]35]40
S1T1[13[16|20(27 (3441

(11) The table gives the distance m nautlcal miles of the ws1ble -

horizon for the given heights i in feet above the éarth's surface:

x = height | 100 | 150 200 ,_ o _3Qo' 7350 | 400
*"y distance 10.63 | 13.03 1504' 16.8118.42 | 19.90 | 21.27

Find the value of y when X= 218 ft by using sultable .

1nterp01at10n formula | | -
| o 8+8
R *
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‘Given that

x[10 [ 11 [12 |13 |14 [ 15 | 16 |
y|7.989|8.403 | 8.781{9.129 [ 9.451 | 9.750 | 10.031
find e and ‘?at x=16-

2. _

Solve y ., -4y =n |
- 10+6

UNIT - IV

'Writ_e. short -note on numerical _integr—atibn._

Evaluate I 2 by usmg Trapazo1dal rule, Slmpson S 3 rule

_ - _ 3
and Simpson's 7 rule.

8 .
| 4+12
 OR |

. State the assumptions made and derive the expression for

1
3

- ‘numerical integration using Simpson's = rule.

4 @
)
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‘the differential 'equation g-?j:'x,“')’z,’

‘Write the algorithm of Simpson's 3 rule for a known function.

848

UNIT - V

Apply Mjlne"s 'Predictor-Corrector method_ to 'ﬁnd y'(o,s) for

dx
y(02) 0.02, y(0.4)= 00795 y(06) 01762
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(1) Explain Range-Kutta fourth order meth()d'. for solution of

—180

OR

70,

) |

5 B
eqnditions as exhibited in given ‘ﬁgur_e.
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differential equation of first order and first degree Also write
the algonthm for the same. -

8+8

Solve u,, +u,, =0 for the following square m_esh_ses with boundary

16
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